(x, )=similar tanh
10x,/a' —10% la’
10x,/a’ + 10><,/a‘

10% :eln(lo) X : 10x,/|n(10):ex,
a=1,00, b=1,00 e=2,718282

a'=aln(10)=2,302
lox,/a':lox, Ia In(lO)]:ex,/a

TFax) =b

= e e e e

L =28cd/m?
;

(X, )=similar tanh & modified
. blOX’ la _ 16(,/3’
- 1057 1 1g¢

a=1,00, b=1,00 e=2,718282

FF_ (X
an(%r) a'=aln(10)=2,302

a:l‘O(PJ:l.OOO
a'=2,302, b=2,00

= e e e e

10% la _ 10¢ la

Fab(xf) = blOX' la log<,/a'

L =28cd/n?
;

4 x =log[L/L,]

(x,)=similar tanh & modified
10x,/a’ —10% a’
1047 4 1042

a=1,00, b=1,00 e=2,718282

TF (%) =b
an(%r) a'=aln(10)=2,302

_ Al = a7
104/ 4 104/

L ~28cd/m?

3 4 x=log[LiL,]

(x,)=similar tanh & modified

10% la _ 10% la

=1,00, b=1,00 e=2,718282
FE (x.)=b ‘ . a=1,00, b=1, 5
ab\r 10% a + 10x,/a

a'=aln(10)=2,302

a:O‘Sé)J:O.GlS
1,417, b=1,00

X fa _ la’
Fan(X) = bloxv/a‘ L Ta'
104/ + 10¢
m. =0,
My o156

L =28cd/m?

4 x =log[L/L,]

(X, )=similar tanh & modified
10x,/a‘ —10% la
1052 4+ 105/

TF.0) =b a=1,00, b=1,00 e=2,718282
& a’=aIn(10)=2,302 2
a=2.0&‘ =1,624

a'=3,740, b=2,00]

-

X /a' _ la
F o) = AL =100
10/ 4+ 10478

L ,=28cd/m?

TFax) =b

%, =log[L/L ]

(X, )=similar tanh & modified
10% la _ 1@(,/a'
10472 + 104/

a=1,00, b=1,00 e=2,718282
a'=aln(10)=2,302
a=

I Akl Tl
- 1057 1 104

L =28cd/n?

4 x.=log[LiL,]

(x,)=similar tanh & modified
10x,/a‘ —10% la
10472 4 104/

a=1,00, b=1,00 e=2,718282

1r -
a(r) =b a'=aln(10)=2,302

W - e e e 7
o= a:l,O(P‘ =1,000
a'=2,302, b=0,50]

10% la _ 10% fa

F_ (%) = b————
ﬂb( 0) 1Ox,/a +10% Ja’

L ,=28cd/n?

4 x.=log[LiL,]

(X, )=similar tanh & modified
. blox, la _ 10x,/a‘
T 109 4 10

FE (%) a=1,00, b=1,00 e=2,718282
a a'=aln(10)=2,302

- =

0‘5(9'720.615
417, b=0,50,

| pdokie gt
- 105 1 104

L =28cd/n?

%, =log[L/L ]

4 x=log[LiL,]




